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‘ g B 4| EEA | HEA I . Vocabulary and Structure( 10 points, 1 point for each) A T
i FANPERPEH — P REER, HESAE LHERNT
| B B3R,
1. Platinum _____ in existence. ( )
| K A.it is one of the heaviest materials B.as one of the heaviest materials that is
| C.one of the heaviest materials ,it is D.is one of the heaviest materials
= 2. Caves and hollow trees are not the only place B ( )
| = A.where do bats live B. bats live where
| C. where bats live D.live where bats
g 3. The author writes more about Hardy’s county than ¢ SWEY ( )
e } A.he writes about Hardy
5 B.what he writes about the Hardy the man
‘ C. he does write about the person Hardy himself
| D. he does about Hardy
‘ 4 “What happened?” “As you know, my schoolmates never their clothes well. " ( )
| A hanging B. hanged
| C.hung D.hang
‘ 5. outside in the street, the man was sent to hospital at once. ( )
A.To be found dying B.Find’ing dead

C.Found lying and dying fast D. Found lying and almost died

| [ 6. For passengers, ships have the advantage of __ cheaper than trains or airplanes. ( )

RERE BFHBR (L) RETMA (—)% 1 71(3 8 70)

A. having been B. to have been
C. being D. to be
7.1 really can’t understand __ so suddenly. (
AL his leaving B. him to leave
C. he leaves D. him being leaving
8.He is used to early in the morning. ( )
A. rise B.rising
C. risked D. rose
9.'mglad __ to look around your research center. ( )
A. 1o allow B. to be allowed
C. having allowed D. being allowed
10. She didn’t stop until it became dark. ( )
A. working B. to work
C. worked D. for work

B 4| e | mEA I . Cloze Test(10 points, 1 point for each) 7432 i+ 2
B, 81 ZAAN ST, R E TXEREHBESR, 4
ERE LSRN FEAE,

John Smith Community College is(11) open — door educational institution committed to (12)

higher education to all who can benefit. (13)a creation and an integral component of the local
community, it is(14) to the community's post — secondary educational needs( 15) to the needs of
a complex and changing larger society. Furthermore, the college commitment, within(16) re-
sources, is to assist individuals toward their goals.

The(17)of John Smith Community College is to provide diverse educational programs, cours-
es, and services in order to serve its(18) student body. The college also provides a climate(19)
which the citizen may be equipped and motivated to understand: the interrelationship of the physi-
cal and social world. This understanding will enhance the ability to participate(20)in all aspects of
a democratic society.

11. A. the B. a

C. an D./ ( )
12. A. provide B. provided C. providing D. having provided ( )
130 A" For Bi As C. With DY, 155 Ay
14. A. responsible B. responsive C. reactive D. respondent ( )
15. A. as well as B. in order C. meeting D. but ( )
16. A. availed B. adjusted C. adjustable D. available ( )

REFHEE B o B CEARHERTI 45 (— )45 2 i (3t 8 7T)




17. A. object B. objection C. objectivity ~ D. objective ( )
18. A. varied B. variable C. variance D. variant ( )
19. A. in B. form C. through D. by ( )

constructive  D. constructedly ( )

20. A. constructively B. constructed C.

| & [ A [ A II . Reading Comprehension(30 points, 2 points for each) A 31

ST R A R A R — S REER, I
EERE ERNNFERR.

Passage 1

Question 21 to 25 are based on the following passage:

The golden rule for good writing is not a rule of grammar. It is true that there are rules of
grammar, as in music there are rules of harmony, and that they are important, but one can no
more write good English merely by keeping these rules than one can compose good music. The
golden rule for good writing concerns not merely the arrangement of words but the choice of
them. Only the right words can convey the right meaning: the secret is to pick those words and
to use them and them only. For the “right” words have a happy knack (a clever way) of arrang-
ing themselves for you. But, first, you must have something to say. Mathew Amold once said:
“Have something to say and say it as clearly as you can. That is the only secret of style.” There
is much truth in those words, especially in relation to the sort of writing where emotional appeal
plays a part. We can tun to the member of the staff of the General Post Office who by composing
the notice — “Postal officials are neither bound to give change nor authorized to demand it.” —
used thirteen words hardly less efficiently to warn customers of what must have often been a diffi-
cult situation. Every word is exactly right: no other word would do as well; each is pulling its
weight; none could be dispensed with. As was said of Milton’s prose — “Fewer words not have
served the true, more would have been superfluous. ”

21. The author's purpose is to persuade us that in order to write well, we should

( )
A.study carefully the style of writing
B.know the rules of grammar well
C.watch the arrangements of words in our sentences
D. know what we want to say and choose the right words
22. The word “superfluous” in Milton’s prose is closest in meaning to s ( )

A. essential B.adequate C.out of place D.more than is needed

KA HEE AR () FRfE RNt (—) 5 3 T (3L 8 D)

23 .One cannot compose good music if he
A knows as many rules of harmony as those of grammar
B. knows the rules well
C.merely sticks to the rules

D. cannot choose the right rules and words

24 . The author mentions the unknown official as example because ( )
A.everyone uses the post office .
B. he wants to make fun of the post office
C. he believes it can support his view
D. he chooses it at random
( )

25. According to the post office notice in the passage, a customer _
A. can expect to be turned away if he offers a pound for a shilling telegram
B. can give an official a ten pound note for one pound stamps and expect change
C.will be given change if it is convenient

D. with insufficient money to pay for what he wants may expect to be given credit
Passage 2

Question 26 to 30 are based on the following passage:

In small towns and big cities, children with names like Oswaldo’ Suong, Boris or Ngam are
swelling the name lists in U. S. public schools, sitting side by side with Dick and Jane. Immigra-
tion in the 1980s brought about 9 million foreign — born people to the United States, slightly more
than the great wave of 8.8 million immigrants that came between 1901 and 1910. As a result at
least 5 percent of the children have limited ability in English. In seven states including Colorado,
New Mexico, New York and Texas, 25 percent or more of the students are not native — English
speakers. As a result, says Eugene Garcia, a professor of the University of California, “there is
1o education topic of greater importance today. "How to teach in a school of so many different lan-
guages speakers? Many areas respond by explaining the two — language education programs. In
these classes, students are taught subjects like social studies, science and math in their native lan-
guage on the theory that children must develop a firm basis in their native language before they
can learn school subjects in a new language. Educators say that even with two = language educa-
tion, it takes between four and seven years for a non — native to reach national levels on ordinary
tests of most subject material.

26. According to the passage, in the 1980s i ( )
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A.more than one fourth of the students couldn’t speak English to take against its neighbors in case sanctions ({il#%)are imposed by the international community.

B.8.8 million children in the U. S. immigrant attend public schools President Sassou Nguesso has already undertaken a number of trips abroad. He thus went to
C.5 percent or more of the American children are not at school Harare (Zimbabwe) where he delivered a speech, on September 1,0n behalf of Africa before the
D.9 million immigrants came to the United States summit meeting of non— aligned nations.
27.The word “swelling” (line 1, paragraph. 1) can be replaced by . ( ) At the end of September, he was in New York, for a statement before the General Assembly
: A.increasing B. decreasing C.spelling D.showing of the United Nations, and then in Washington, for talks with high — ranking members of the

o _ “ a 9 ; . o b ) ; } )
28. The sentence “there is no education topic of greater importance today”"means _____ Reagan Administration. He then went to Ottawa, for consultations with leading members if the

( ) Canadian government.
A education is no | hy st important topic in the U. S. 3 ; ) ;
| RS RS RSB IRIPRIR R The Congolese president’s aim, in all these endeavors, is to convince still reluctant countries
B.how to teach those immigrant children is of the importance in education : 3 3 3 g d " ’ . - B
| of the imperious necessity of imposing sanctions against the against the racist regime of Pretoria.
= C. education is more important than anything else in the U.S. “ %
2| o m : 4 31. In the first paragraph, the word “successor” refers to 5 ( )
| D. Immigration wave is the most important topic today
| A. a person wio enjoyed a successful career in politics
E o 29.Those immigrant children in the American public schools - ( ) g e 5
: S B. ¥ ho was lar in the political
| A. take English lessons right after they are admitted 2 BerOI O As Y YO R  SSl Fk r
z R e A e o C. the person who was to lead the organization
L C.learn two languages before the subjects are taught D. the present head of the organization
&
| | D. are made to improve their native language first 32. According to the passage, Sassou Nguesso 3 ( )
|
| i
| £ 30.The best title for this passage is ) ( ) A. is Congolese
! A.American Schools: New Problems B. knew that it was very difficult for him to be elected
| 2
e B.U.S.A.: A New Wave of Immigration C. was elected without any opposition
S C.U.S.A. :A Crisis in Education D. has held a meeting in the Ethiopian capital
g o .
: D. American Schools: Too Many Foreign Students 33. Which of the following is NOT mentioned in the passage? ( )
= A. President Sassou Nguesso has decided to visit as many Afric: t s possible.
| Passage 3 resident Sassou Ngi y Alfrican countries as possible
| B. President Sassou Nguesso made a suggestion to President Kenneth Kaunda that a meeting
Questions 31 to 35 are based on the following passage: be held of the leaders of countries that lie close to South Africa.
After the very active and successful tenure (8% ) of office by the Senegalese President at the C. President Sassou Nguesso went to Harare and delivered a speech there.

head of the Organization of African Unity, it was highly logical to think that the successor, who- D. If sanctions are imposed against South Africa by the international community, the racist

ever he might be, would have a difficult task in doing a better job. regime of Pretoria will probably take revenge on its neighbors.

The Congolese president set to work as son as he was elected. His first step was [0 Suggest to 34. We may draw the conclusion that President Sassou Nguesso has been working really hard o

the dean of heads of State present in the Ethiopian capital, President Kenneth Kaunda of Zambia, ? ( )

to summon a meeting of the leaders of countries that lie close to South Africa. Its aim: to define A. prove himself a trustworthy president

AAAMIING

a strategy in order to overcome the reprisals(# 3474 ) that the racist regime of Pretoria is likely B. convince some reluctant countries that it is highly necessary to impose sanctions against the

RS AF YR LIERBRE(—) 5 es ) KEFIEE F AR (R AR HERIIRAG ()5 6 TT(3E 8 7)




racist regime of Pretoria
. show to the whole world the strength and power of the Organization of African Unity
D. seek financial support from some advanced countries to promote African economy
35. This piece is most probably taken from 5 (
B. biographya
D.a Who's Who

PART TWO

A. a newspaper report
C. a history book

IV . Word Spelling(10 points, 1 point for two words) 1 T 5UiRi&
SEERKEHSESAR L, SMANAENE—FEEE
@K LAY, EPEENEFELE LA —1FE,

m | EA | EEA

36. A XTHY
- it

38. s
ERFERY
C#E
ERE
- SrikH
EfF

vi

adj.

ad).

n.

n.
BN | mEA V . Word Form(10 points, 1 point for each) $# 4% S H &) & 1A L&
HBEBLRABNZA, EREEZER L,

56. In English someone might say something that sounds like a _ (invite) but that never re-
sults in an actual meeting with another person.

57. She was looking straight

(head) , viewing the scene in her mind.

REFHE H AR () FREBBN RS (—) % 7 L (3E 8 TT)

58. The motor car in reckless, (skilled) hands can cause great damage to life and proper-

ty.
59. Each driver stood in the street and
60. (experience) diamond miners can tell a diamond immediately.

(argue) that the accident was the other's fault.

61. He managed (tackle) the country’s troubles at their roots.

62. Can you discover him (draw) a nice horse?

63. The police - (claim) their right to enter the building.

64. It is very (polite) of him to keep his business associate waiting for so long.

65. The bus driver takes full
B4 | EEA | mEA VI . Translation from Chinese into English (15 points, 3 points

for each) ¥ T3 S AFERAFHHERSESTAR L,

(responsible) for the passengers’ safety.

66. s A R AR TR e TAE o

67. HE KRN, BT HARE,

68. A T 04N REFE AL , RATAHL LR N Bl
69. [ 5 AR T 2 [ A A ) A o

70. M A M1 S it 7 o

B 4w mEA VI. Translation from English into Chinese (15 points) 1% T~ %8
| XEANEHBERSESERL,

I arrived in London at last. The railway station was big, black and dark. I did not know the
way tomy hotel, so I asked a porter. I not only spoke English very carefully, but very clearly as
well. The porter, however, could not understand me. I repeated my question several times and at
last he understood. He answered me, but he spoke neither slowly nor clearly. “I am a foreigner,
I said. Then he spoke slowly, but I could not understand him. My teacher never spoke English
like that! The porter and I looked at each other and smiled. Then he said something and I under-
stood it. “You'll soon learn English!" he said. I wonder. In England, each man speaks a differ-
ent language. The English understand each other, but I don” t understand them! Do they speak
English?
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B 4| EEA | HEA I . Vocabulary and Structure(10 points, 1 point for each) A F%

FAOMERPEH - REER, HEERK LHHENNF

BiRR,
1. Unless economic improve next year,  widespread unrest in the United States. ( )
A. there would be B. there is
C. there should be D. there will be
2.Weather _,the picnic will be held as scheduled. ( )
A. permits B. should permit
C. will permit D. permitting
3. Only after he has acquired considerable facility in speaking . ( )

A. then he learns reading and writing
B. does he leamn to read and write
C. finally comes reading and writing
D. he began to read and to write
4. The higher the standard of living and the greater the national wealth , the f ( )
A. greater is the amount of paper is used
B.

C. greater amount of paper used

greater paper s amount is used

D. greater amount of paper is used

5.Hardly well on the experiment, so the teacher explained it again. ( )
A. any of the students did B. any of students had done
C. would any of the students do D. did any of the students do
6. Scientists call Newton's idea gravitation reaches throughout the universe the law of
universal gravitation. ( )
A. which B. that C. when D. where

FEFH AFHB D) ERMIAA ()% 1 (38 1)

7.Itis that you can’t get everything you want at one store because there are severe
shortages of goods. ( )

A. likely B. certainly C. probably D. possibly

8. The fox watched them from the safety of a nearby field. ( )
A. going passed B. to go pass C. going past D. to go past

9.1'm going anyway, she will go is up to her to decide. ( )
A. if or not B. whether or not  C. that if D. that

10. The area of that city is about that of this one. ( )
A. charged B. to be charged C. being charged D. to have charged

@ 4| iz | e | I -Cloze Test(10 points, 1 point for each) FIAXHA 4=
B, 81 ZEANNER, RIELETXEREHREER, HFE
EBE LA FERR

These days I don”t watch television, (11) a few years ago 1(12)to watch it every night. I

was often(13) tired in the evenings and there are few forms of entertainment that(14) as(15) ef-
fort as television. (16) , there are a large number of people in my family, some wanted to watch
one program(17) others preferred another. I was happy to look at any program, but the others
spent a great deal of time arguing each night and there was no way of(18)the matter except (19)

selling the set. Now everyone at home reads (20) .

11. A. since B. but C. before D. moreover ( )
12. A. used B. began C. decided D. had ( )
13. A. a little of B. a bit of C. a little D. more ( )
14. A. demands B. requires C. demand D. do ( )
15. A. few B. great C. little D. much ( )
16. A. Unfortunate B. Luckily C. Fortunately ~ D. Unfortunately ( )
17. A. and B. while C. in spite of D. regardless of ( )
18. A. being settled B. concluding C. dealing D. settling ( )
19. A. for B. with C. of D. by ( )
20. A. instead of B. instead C. in return D. for return ( )
e TUEEN II'. Reading Comprehension(30 points, 2 points for each) A T3
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Passage 1

Question 21 to 25 are based on the following passage:

History books say American explorer Robert Peary was the first person to reach the North
Pole. They say he got there on April 6, 1909. Not everyone agrees, and a new investigation has
reopened the debate.

Robert Peary began his last voyage to the North Pole eighty years ago. For months he and
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his crew made their way slowly to the North Pole, but were they, in fact, standing at the North
Pole? Peary did not really say.

After Peary returned to the United States, he met with directors of the National Geographic
Society. Asked British explorer Warney Herbert to head the neo-investigation. In his investiga-
tion of Peary’s North Pole claim, Wamney Herbert used the latest scientific information about
Arctic weather conditions, currents and ice movement. He found records of distances traveled that
were hard to believe. He found documents that lacked important information. For example,
Peary's records lacked details about wind speeds, Arctic weather and ice conditions. Also Peary
claimed to have traveled nine hundred fifty kilometers across the Arctic to the North Pole in less
than eight days. Mr. Herbert says no other Arctic explorer has ever claimed to make the trip in
such a short time. Mr. Herbert says he was surprised by one thing — Robert Peary left no writ-
ten records of his activities during the thirty hours he spent in the area of the North Pole. Why?
Mr. Herbert says it is very possible that Peary was not close to the North Pole after all. Because
of navigational mistakes he might have missed the Pole by fifty to one hundred kilometers. If this
is true, and if Peary knew it, he might have chosen not to record his activities.

Warney Herbert says the lack of firm evidence makes it impossible ever to prove or disprove
Robert Peary’s claim of reaching the North Pole first.

21. The following statements are true EXCEPT

A. Robert Peary was the first person to arrive at the North Pole

B. Robert Peary was an American explorer

C. Some people believe that Peary failed to reach the North Pole because of navigational mis-

takes

D. There has been a debate about the earliest visit to the North Pole for quite a long time
22. Warney Herbert is a (n) @ ( )

A. geographer
23. Which is the best title for this passage?

A. The Debate About American History of Navigation.

B. Robert Peary, THE Well - known Explorer.

C. Robert Peary, the First Person to Reach the North Pole?

D. North Pole, A Remote Region.

_ In this investigation of Peary’s North Pole claim, Warney uses the following information EX-

CEPT p ( )

A. Arctic weather condition, currents and ice movement

B. historian C. explorer D. examiner

B. Documents about Robert Peary's last voyage to the North Pole

C. Peary's records of distance traveled

D. history books
. Warney is the

A. member

of the new investigation group.

B. explorer C. director D. examiner

FAEYEE 2SR (R FRHERTINAE (—)50 3 L3k 8 51)
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Passage 2

Question 26 to 30 are based on the following passage:

Bill Javis took over our village news agency at a time of life when most of us only want to re-
lax. He just thought he would like something but not too much to do, and the news agency was
ready— made. The business produced little enough for him, but then Bill was a chap who only
wanted the simplicity and order and regularity of the job. He had been a long = serving sailor, and
all his life had done everything by the clock.

Every day he opened his shop at six a.m. to catch the early trade; the papers arrived on his
door — — step before that. Many of Bill"s customers were city workers, and the shop was conve-
nient for the station. Business was tailing off by clock, so at eleven sharp closed for lunch. It was
hard luck on anybody who wanted a paper or magazine in the afternoon, for most likely Bill would
down on the riverbank, fishing, and his nearest competitor was five kilometers away. Sometime
in the afternoon, the evening papers landed on the doormat, and at four o’ clock Bill reopened.
The evening rush lasted till seven, and it was worthwhile.

He lived in a flat above the shop, alone. Except in every bad weather, you always knew
where to find him in the afternoons, as I have said. Once, on a sunny afternoon, I walked home
along the riverbank from a shopping trip to the village. By my watch it was three minutes past
four, so I was astonished to see Bill sitting there on his little chair with a line in the water. He
had had no luck, . I could see, but he was making no effort to move.

“What’s wrong, Bill?” I called out from the path.

For answer, he put a hand inside his jacket and took out a big, golden object. For a moment
I had no idea what it could be and it suddenly went off with a noise like a fire engine. Stopping
the bell, Bill held the thing up and called back, “Ten to four, you see, and this is dead right. "
He stood up then and began to wind in his line.

I had never known anyone carry a brass alarm clock round with him before.

26. Bill Jarvis became a news agent when 2

A. he needed the money B. he decided to take things easy
C. he was quite an old man D. he gave up clock = repairing
27. Why did Bill open the shop so early in the day?

A. He liked to do as much as possible before he went to work.

B. The shop had to be open when the morning papers came.

C. Bill is never sure of the time.

D. It was then that he did a lot of business.

28. You might say “hard luck” to someone who

A. has just heard some very good news

B. is less fortunate than he or she ought to be

C. puts great effort into whatever he or she tries

D. fails through his or her own fault
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29. Why was the writer surprised when he saw Bill Jarvis?
A. He thought it was late for Bill to be still fishing.
B. He thought Bill was ill because he was not moving at all.
C. Bill had not caught anything, and that seemed strange.
D. He was surprised because Bill stayed in his flat in the afterncon.

30. From the information given in the passage, which do you think is wrong? ( )
A. The bell must have gone off at the wrong time.
B. Bill had dropped off to sleep.
C. The writer’s watch was fast.

D. Bill's clock was wrong and it was very old.
Passage 3

Questions 31 to 35 are based on the following passage:
Bobby and his master, farmer John Gray, were familiar sights in Edinburgh. Every Wednes-

day after a visit to market and exactly as the time-gun boomed one o’ clock, the two would enter

Traill's Dining Room for their midday meal,a frugal lunch for Gray, and a bun for Bobby.

Then in 1858, the schedule was interrupted. Farmer Gray died Three days after the funeral
exactly at one o clock, Traill found himself looking into a pair of beseechhing (23K ff) canine
eyes. Bobby got his bun and disappeared. This was repeated for several days until Traill’s curiosity
got the better of him. He followed the small terrier as he left and raced to his master’s grave.
There he remained each day, fair or foul, despite the efforts of dog-loving townspeople to give him
a new home. The graveyard caretaker, while sympathetic, was at first not so willing to let him
in. But Bobby s devotion and fidelity (£.01)were so great that the caretaker provided Bobby with
a shelter close to the grave to protect him from bad weather.

Then, after nine years, Bobby was arrested as a vagrant (iR # ) because he had no license.
The restaurant keeper appeared in court with Bobby. He was released by merciful justice. But just
to make sure the law could not touch him, Lord Provost William Chambers paid Bobby's fee each
year and presented him with a brass-plated collar inscribed “Gryfriars, Bobbyfrom The Lord
Provost, 1876, Licensee.

After that, Greyfriars’ Bobby was allowed to keep his lonely vigil(5F#% ) undisturbed. He nev-
er varied his mealtime. Each day he left the graveyard as the gun roared one o’ clock to pick up his
bun and take it back to eat at his master’s side. He must have been really hardy for he lived until
1872 ,having kept to his solitary post for fourteen long years. He was buried in Greyfriars’, of
course, in a flower bed near John Gray's tombstone.

31. An appropriate title for the passage could be 2 ( )

A_Traill"s Dining Room B. Farmer John Gray

C.Bobby the Faithful D. Lord Provost William Chambers
32. The phrase ? familiar sights? in the first sentence is nearest in meaning to

()

RAFHei B F R (L) PRERMBIAL (—)% 5 71(35 8 71)

A. “people who are {amiliar with the surroundings?”
B. “people who enjoy sightseeing?”
C. “people who have very good eye-sights?”

D. “people or objects that are often seen around by others?”

33. The phrase“fair or foul” in the second paragraph is used to describe . ( )
A. the graveyard B. the weather
C. Bobby D. Traill

34. Which of the following is NOT mentioned or implied about Bobby? ( )

A. Bobby had refused to live in other people’s home.

B. Bobby was devoted and faithful to his master.

C. Bobby was once arrested because he did something wrong.

D. Bobby was protected by Lord Provost William Chambers until his death.
35. From the passage, we know that Bobby was

A.John Gray's servant B.a dog
C. a vagrant D. John Gray's son
PART TWO

IV . Word Spelling(10 points, 1 point for two words) 1§ T35
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36. A Mtk adj. SNy, D T

37. s vi I R
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40. RREHZH)  adj. U i e DR
41. ¥ n. Vit i,

42, FTHHE adj. b e U WA NSRRI e o
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56.The (prison) of war were set free when the war finally ended.

57. The young man was encouraged by his parents to go into _ (train) for the swimming 3 i) v
i’ B KRS A R T
competition.

8. John told the secretary that he could not attend the meeting because he would go to an

(industry) exhibition.

@ 4| wEA | mEA V. Translation from English into Chinese (15 points) ¥ T3
TEMNEH B ERSEEER L.

. My little brother is very happy because tomorrow, the _ (twenty) of November, is

his birthday.

. Have you ever heard English__ (speak) by an Australian or Canadian? I was being tested for a driving license for the third time. I had been asked to drive in heavy
. Some animals and plants have ___ (protect) coloring that makes them hard to recognize traffic and had done so successfully. After having been instructed to drive out of town, I began to
and so protects them from their enemies. acquire confidence. Sure that I had passed, I was almost beginning to enjoy my test. The exam-
. The raining season _______ (extend) from about the middle of June to about the middle of iner must have been pleased with my performance, for he smiled and said, “Just one more thing,
July. Mr. Eames. Let us suppose that a child suddenly crosses the road in front of you. As soon as I
. When she missed the expected appointment, her _ (disappoint) seemed too great to tapon the window, I want the car to be stopped immediately.” I continued driving and after
bear. some time, the examiner tapped loudly. Though the sound could be heard clearly, it took me a
. For centuries the Atlantic Ocean kept the Americans from _ (discover) by the people long time to react. I suddenly pressed the brake pedal hard and we were both thrown forwards.

of Europe. The examiner looked at me sadly. “Mr. Eames,"” he said, in a mournful voice, “you have just

65.She sat there _ (do) nothing. killed that child!”

B 4 | WA | N VI. Translation from Chinese into English (15 points,3 points
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A. understanding B. peace C. quiet D. knowledge

9. We have agree the rules which will govern the competition. ( )
A. from B. on C. by D. for
10. He before spring break. ( )

A. hopes to completely finish his term paper
B. hopes to finish his term paper completely
C. hopes completely to finish his term paper
D

. hopes to finish completely his term paper

@ 4| A | A | 1 -Cloze Test(10 points, 1 point for each) FAlEXHE +4 =

g s I I 1 I\ ¥ Vi M |& }}»

B | 10 10 30 10 10 15 15 | BSA
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PART ONE

B | FEA|HEA
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1. The reason for the traffic accident was__ one of the drivers lost control of his car .
(

A. why B. when C. that D. because

2.Now the problem of energy is becoming critical. It an immediate solution. (
A. calls on B. calls for C. calls up D. calls at

3.John isn’t a diligent student, for it is the third time he has been late, ? (
A. wasn't B. hasn’t it C. isn't it D. hadn’t he

4. Most people can’t the day without at least one cup of tea or coffee. (
A. get through B. geton C. get at D. get by

5.He doesn’t drive yet , but he wants : (
A. the own car B. the car of his own C. an own car D. a car of his own

6. Staying in a hotel costs renting a room in a dormitory for a week. (

A. twice more than B. as much twiceas C. twice as much as . as much twice
7.1f their train arrives not make it to the theater on time. (
A. lately , we will B. late, we would C. more later, we will D. late , we will

8. The visit of the president will increase between the two countries. (

KRFHE AF R (L) ERMES (=)5 1 713t 8 1)
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The weather has always been a popular topic in our daily life. But it’s sometimes no one that
can control, (11) he is rich or poor ,young or old in every part of the world. Maybe that’s the
(12) why there are so many expressions about the weather, especially about rain.

Sometimes, when you need rain, you do not get any. Other times, You (13) rain when you
don’t want it. Take a baseball game for example. A sudden rainstorm can stop an exciting game,
forcing the players and the 20, 000 persons watching the game to run for cover.

If the game (14) continue, people who bought tickets are given “rain checks.” These are
(15) tickets that will let them see a(16) game for free.

“Rain Check” now means a second chance at something. Often, a rain check has nothing to
do with rain. Stores may offer “rain check” when they sell out all of a product — a television set,
for example (17) a special low price. After all the TV sets are gone, the store gives rain checks to
those who want to buy one. The rain check allows a person to buy the TV set later, at the same
low price, after the store receives some (18) from the factory.

“Rain Check” also is used in social situation . It's a way of accepting an invitation, but for a
later time.

You may ask for a “Rain Check” if you are invited to a friend’s house for dinner, but can’t
be there. You say, “I would love to (19) you for dinner, but I’ m busy. Could I have a rain
check?” You are asking, in other(20), if you could join your friend for dinner at another time.

11. A. whatever B. whoever C. however D. how old ( )

12. A. cause B. question C. reason D. answer ( bl
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. get
. waste

. waste

. clubs

. join D. satisfy

)
)
)
. simpler )
)
)
)
)

. days . hands D. words

I . Reading Comprehension (30 points, 2 points for each) A 51
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Passage 1

Question 21 to 25 are based on the following passage:

During the Great Depression of the 1930s, unemployment affected as much as 25 percent of
the labor force. Today”s federal system of social welfare programs did not exist then, so the fami-
lies of most of the unemployed went hungry. Since that time, we have progressed both in main-
taining higher levels of employment and in providing support services to the unemployed. Howev-
er, unemployment is still a threat in certain industries and for certain groups, especially among
minority youth first entering the labor force. Unemployment is a waste of human resources, and
represents a drain on public budgets and on the life savings of individual families.

21. The above passage mainly states that ___

A. unemployment in the 1930s was the most serious one in human history

B. figured for today’s unemployment are higher than in the 1930s

C. unemployment is still a threat to today’s society

D. unemployment can be called a waste of human resources

. Which of the following statement is true?

A. Programs to support the unemployed are funded by the federal government.

B. Only one —fourth of the labor force didn’t lose their jobs during the Great Depression.

C. To keep high levels of employment is the only way to solve the problem of unemploy-

ment.

TR H A R (R ) BRI (=)% 3 TL (3L 8 1T)

D. Depression may occur whenever there is a drain on public budgets.
23. According to the passage, unemployment is a special threat to

A. industrial workers B. farmers
C. street vendors D. black teenagers
24. The tone conveyed in the passage is

A. sad B. humorous

C. critical D. anxious
25. It is inferred in the passage that

A. the development of the society can reduce unemployment .

B. the government didn’t pay enough attention to social welfare programs in the 1930s
C. the unemployed needn’ t worry today with the support services
D

. the waste of human resources may cause unemployment

Passage 2

Question 26 to 30 are based on the following passage:

Acting is such an over — crowded profession that the only advice that should be given to a
young person thinking of going on the stage is “don’ t!”. But it is useless to try to discourage
someone who feels that he must act, although the chances of his becoming famous are slim. The
normal way to begin is to go to a drama school. Usually only students who are promising and tal-
ented are accepted, and the course lasts two year. Then the young actor or actress takes up work
with a theatrical company, usually as an assistant stage manager. This means doing everything
that there needs to do in the theater: painting scenery, publicity, taking care of the costumes,
and even acting in very small parts. It is very hard work indeed, the hours are long and the
salaries tiny.

Of course, some people have remarkable chances which lead to fame and success without this
long and hard training. Connie Partt, for example, was just an ordinary girl working in a bicycle
factory. A film producer happened to catch sight of her one morning waiting at a bus stop, as he
drove past in his car. He stopped and got out to speak to the girl. He asked if she would like to go
to the film studio to do a test, and she thought he was joking. Then she got angry and said she
would call the police. It took the producer twenty minutes to convince Connie that he was seri-

ous. The test was successful. And within a few weeks she was playing the leading part opposite
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one of the most famous actors of the day. But chances like this happen once in a blue moon!
26. From the very beginning, the author puts it clearly that acting is a profession
A. sought after by too many B. too difficult for young people
C. for ambitious people only D. for young people only
27. Which of the following is NOT mentioned as part of an assistant stage manager's job?
(
A. Play minor.
B. Take care of the dress to be worn on the stage by an actor or actress.
C. Help advertise plays.
D. Collect tickets.
28. For someone who feels he must act, it is very likely that ¥ (
A. he will become a star in the end
B. he will become a stage manager
C. he will be well paid
D. he will end up without any success
29. A few weeks after the test, Connie Pratt found herself > (
A. the most famous actress of the world
B. playing the leading female role in a film
C. as famous as the greatest actor of the world
D. no less famous than the leading actor of the day

30. The' concluding sentence “chances like this happen once in a blue moon” means

A. this is something which happens once in a while
B. this is a highly profitable chance
C. this is something highly possible

D. this is very rare occurrence

Passage 3

Questions 31 to 35 are based on the following passage:

In old days, when a glimpse of stocking was looked upon as something far too shocking to dis-

REHEAFHR (LTINS ()% 5 (3L 8 1)

tract the serious work of an office, secretaries were men.

Then came the first World War and the male secretaries were replaced by women. Aman’s
secretary became his personal servant, charged with remembering his wife’s birthday and buying
her presents; taking his suits to the dry-cleaners; telling lies on the telephone to keep people he did
not wish to speak to at bay;and, of course, typing and filing and taking shorthand.

Now all this may be changing again. The microchip(#£i##£ )and high technology is sweep-
ing the British office, taking with it much of the routine clerical work that secretaries did.

“Once office technology takes over generally, the status of the job will rise again because it
will involve only the high-powered work— and then men will want to do it again.”

That was said by one of the executives(male)of one of the biggest secretarial agencies in this
country. What he predicted is already under way in the US.

Once high technology has made the job of secretary less routine, will there be amale take
over? Men should beware of thinking that they can walk right into the better jobs. There are a lot
of women secretaries who will do the job as well as they—not just because they can buy negliéees
(A EEAK) for the boss’s wife, but because they are as efficient and well-trained to cope with
word processors and computers, and men.

31. Before 1914 female secretaries were rare because they 3 ( )

A. were less efficient than men

B. were not as men

C. were stockings

D. would have disturbed the other office workers
32. A female secretary has been expected, besides other duties, to 4 ( )
A. be her boss's memory
C. do everything her boss asked her to

B. clean her boss’s clothes

D. telephone her boss’s wife

33. Secretaries, until recently, had to do a lot of work now done by 3 ( )
A. machines B. other staff

C. servants D. wives

34. A secretary in the future will . (G b8y
A. be better paid B. have higher status

C. have less work to do D. have more work to do

35. The writer believes that before long . ( )

e F AR (R ASHERIAE (=) 5 6 TU(Hk 8 7T)



A.men and women will be secretaries children are more (dependent) . !
i 60. The next century may bring more important changes to the American family structure. It
B. men are better than machines i
should be (interest) to see.
¢ bennilliepvrianiiosiagatel e 61. They set out the (wanted) objects on the front yard of their home and waited to see if

D. women will operate most office machines any one would come.

PART TWO 62. The seller makes a little extra money and the buyer (save) quite a lot, since garage —

sale items usually are priced at a very small part of their original cost.

i . One of the most i sting sections to visit is th (freeze) food stores.
B A EEA 5 IV . Word Spelling(10 points, 1 point for two words) ¥ 555 63 e of the most interesting sections to visit is the

i BAERESHSEREE L, SMANAXNE—SBEE 64. In ; (.L::,\\‘e)bourhw(;r.ds. when we speak or write, we can be guided by the historical
' EEGHAH, BFRENSFERLAS— T8, SRR

65. The American consumer often feels constantly _ (disturb) by insurance agents.
% 5 s = VI . Translation from Chinese into English (15 points, 3 points
2 3 % s 8 4| FEA | HEA ¥
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38. A .
39. A
40. : 66. Al 04 AR
41. -
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MKF ; Ted Robinson has been worried all the week. Last Tuesday he received a letter from the lo-
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(Ei% 4 i cal police. In the letter he was asked to call at the station. Ted wondered why the police wanted

B 4 " WA | mEA V . Word Form(10 points, 1 point for each) ¥ 1% S & ) &7 I him, but he went to the station yesterday and now he is not worried any more. At the station, a
i HELHAMNZH, EREEEEAR L,

smiling policeman told him that his bicycle had been found. Five days ago, the policeman told

|

him, the bicycle was picked up in a small village four hundred miles away. It is now being sent to
56. The variety of things put up for (sell) is really wonderful.

57. Neighbors enjoy meeting new people, and families even serve (drink) and cakes.
58. Unlike some countries, Americans generally pay the price of a product without question, in-
stead of trying to get a (low) price by bargaining. fifteen!

his home by train. Ted was most surprised when he heard the news. He was amused too, because

he never expected the bieyele to be found. It was stolen twenty years ago when Ted was a boy of

59. The school - age children of a traditional family were more dependent. In contrast, modern
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